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4.5 Changing Direct and Partial Variation Situations
Investigation: page 221 in textbook. 

Equation: Equation:
     C = 2L + 35
This is partial variation.
• Straight line (linear relation).
• Does not go through (0,0), 
∴ has an initial cost.

      C = 28n
This is direct variation.
• Straight line.
• Goes through the origin (0,0).

The situation changes: The situation changes:
• Decreased the fixed cost to $28.
This changes the vertical intercept to $28.
• Increased cost of fuel to $3/L.
This increases the slope (rate of change),
making the line steeper.
 C = 3L + 28

• Increased cost per day to $30/day.
This increases the slope (rate of change),
making the line steeper.
  C = 30n
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